MasteringPhysics: Quiz 3 (21 octobre 2021) https://session.masteringphysics.com/myct/itemView ?showStatsForCour...

Note: Answer statistics on this page are updated periodically. Statistics were last updated October 9, 2021 at 3:28
am.

Description: A m rock is released from rest at the surface of a pond 1.8 m deep. As the rock falls, a constant upward
force of F is exerted on it by water resistance. Let y = 0 be at the bottom of the pond. (a) Calculate the nonconservative
work, W_nc, done by...

A 1.9 kg rock is released from rest at the surface of a pond 1.8 m deep. As the rock falls, a constant upward force of 4.2 N
is exerted on it by water resistance. Let y = 0 be at the bottom of the pond.

Part A Grant Full Credit

Calculate the nonconservative work, W, done by water resistance on the rock when the depth of the rock below the
water's surface is 0 m.

Express your answers using two significant figures.

mower  Whe = — Fd A : PuaFosdan. messtée dEPs
Wie=03 AL f = O LA SURFAE PE ( EAu

Answer Stats: Students % Correct % Unfinished % Req'd Solution = Wrong/stude
System Average 2099 88.9% 2.4% 8.7% 1
This Course (demontigny40085) (no data)

Wrong Answers for This Course (demontigny40085)

% Wrong Answer Response
(no data)

Part B Grant Full Credit

Calculate the gravitational potential energy of the system, U, when the depth of the rock below the water's surface is 0
m.

Express your answers using two significant figures. _
ANSWER: 05 = MJ; ; //AV TR DE brd&‘lgr MEBAMEE
U= m981.1.8=34 ] J = /, & m DE/’W‘) LE ﬁﬂb Ve 0'6’774/"5,

Answer Stats: Students % Correct % Unfinished % Req'd Solution = Wrong/stude
System Average 2062 91.3% 1.1% 7.6% 0.5
This Course (demontigny40085) (no data)
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Wrong Answers for This Course (demontigny40085)

% Wrong Answer Response
(no data)

Part C Grant Full Credit

Calculate the kinetic energy of the rock, K, when the depth of the rock below the water's surface is p) m.

< \ - 4cL -
Express your answers using two significant figures. S v - SULF > - MJ M

ANSWER: A[-’— é* f - (K “’ac‘)—’- ‘Jug DornE
K=o Ke = Woe + K — (4 -4)

Answer Stats: Students % Correct % Unfinished % Req'd Solution = Wrong/stude
System Average 2072 92.4% 1% 6.6% 0.3
This Course (demontigny40085) (no data)

Wrong Answers for This Course (demontigny40085)

% Wrong Answer Response
(no data)

Part D Grant Full Credit

Calculate the total mechanical energy of the system, E, when the depth of the rock below the water's surface is 0 m.

Express your answers using two significant figures.

ANSWER: E = /(-f— u; [PAS PE LJJ‘ 5 Gl W' APPAUNT QL
1,8 €

A8 AE =y , uniUsée Ev c)

E- m981.1.8=34 ]

Answer Stats: Students % Correct % Unfinished % Req'd Solution = Wrong/stude
System Average 2031 92.4% 0.5% 7.1% 0.2
This Course (demontigny40085) (no data)

Wrong Answers for This Course (demontigny40085)

% Wrong Answer Response
(no data)

Part E Grant Full Credit

Calculate the nonconservative work, W,,., done by water resistance on the rock when the depth of the rock below the
water's surface is 0.50 m.
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Express your answers using two significant figures.

ANSWER:

CommiE 4

W= —F050=-21 ]

Answer Stats: Students % Correct % Unfinished % Req'd Solution = Wrong/stude

System Average 2003 87.3% 2.7% 10% 1
_:'_1

This Course (demontigny40085) (no data)

Wrong Answers for This Course (demontigny40085)

% Wrong Answer Response
(no data)

Part F Grant Full Credit

Calculate the gravitational potential energy of the system, U, when the depth of the rock below the water's surface is
0.50 m.

Express your answers using two significant figures.

ANSWER: Loume g
U= m981-1.3=242 ]

Answer Stats: Students % Correct % Unfinished % Req'd Solution = Wrong/stude

System Average 1985 89.1% 1.4% 9.5% 0.6
_'_1

This Course (demontigny40085) (no data)

Wrong Answers for This Course (demontigny40085)

% Wrong Answer Response
(no data)

Part G Grant Full Credit

Calculate the kinetic energy of the rock, K, when the depth of the rock below the water's surface is 0.50 m.

Express your answers using two significant figures.

ANSWER:
CommE L
K= m981-1.8 — F-0.50 —m-9.81-1.3=72 J
Answer Stats: Students % Correct % Unfinished % Req'd Solution = Wrong/stude
System Average 1883 69.5% 8.8% 21.7% 1.9
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Answer Stats: Students % Correct % Unfinished % Req'd Solution = Wrong/stude
_:'_1
This Course (demontigny40085) (no data)

Wrong Answers for This Course (demontigny40085)

% Wrong Answer Response
(no data)

Part H Grant Full Credit

Calculate the total mechanical energy of the system, E, when the depth of the rock below the water's surface is 0.50 m.
Express your answers using two significant figures.

ANSWER:

Comme D

E= m981-1.8 — F-0.50 =31 J

Answer Stats: Students % Correct % Unfinished % Req'd Solution = Wrong/stude

System Average 1875 82.5% 2.6% 14.9% 0.9
—— —

This Course (demontigny40085) (no data)

Wrong Answers for This Course (demontigny40085)

% Wrong Answer Response
(no data)
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Part | Grant Full Credit

Calculate the nonconservative work, W,,., done by water resistance on the rock when the depth of the rock below the
water's surface is 1.0 m.

Express your answers using two significant figures.

ANSWER:

Volr A

Wnc = - F'l-O =-42 J

Answer Stats: Students % Correct % Unfinished % Req'd Solution = Wrong/stude
System Average 1909 86.4% 1.3% 12.3% 0.6

O —— —— —
This Course (demontigny40085) (no data)

Wrong Answers for This Course (demontigny40085)

% Wrong Answer Response
(no data)

Part J Grant Full Credit

Calculate the gravitational potential energy of the system, U, when the depth of the rock below the water's surface is 1.0
m.

Express your answers using two significant figures.

ANSWER:
% B
U= m98108=15 J Voi4
Answer Stats: Students % Correct % Unfinished % Req'd Solution = Wrong/stude
System Average 1889 87.1% 1.1% 11.8% 0.4
———————— | —
This Course (demontigny40085) (no data)

Wrong Answers for This Course (demontigny40085)

% Wrong Answer Response
(no data)

Part K Grant Full Credit

Calculate the kinetic energy of the rock, K, when the depth of the rock below the water's surface is 1.0 m.
Express your answers using two significant figures.

ANSWER:
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K= m981-1.8— F-1.0— m-9.81.08=14 J Voir C

Answer Stats: Students % Correct % Unfinished % Req'd Solution = Wrong/stude

System Average 1835 75.6% 4.3% 20.2% 1.1
_'_1

This Course (demontigny40085) (no data)

Wrong Answers for This Course (demontigny40085)

% Wrong Answer Response
(no data)

Part L Grant Full Credit

Calculate the total mechanical energy of the system, E, when the depth of the rock below the water's surface is 1.0 m.
Express your answers using two significant figures.
ANSWER:

Voik D

E= m981-1.8—F-1.0=29 J

Answer Stats: Students % Correct % Unfinished % Req'd Solution = Wrong/stude

System Average 1832 82% 2.5% 15.6% 0.7
— | —

This Course (demontigny40085) (no data)

Wrong Answers for This Course (demontigny40085)

% Wrong Answer Response
(no data)
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